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O or x
1 672 X S7 =
2 768 X SL7 =
3 6,257 X L/6 =
4 2,739 X 6,56/ =
5 75,784 X 3,704 =
6 6/, 879 X /8,264 =
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Oor x
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5,67/

1 3. 4/7
2 47,370
3 /4, E4E
4 3,7//,752
5 54,280,758
6 /02,763,740
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572
ELS
263
79/
354
485
207
L7/
74
S47

8,637
2,605
/856
4,673
3,5/0
7,87
-7,564%
3,723
4,6/
VEXS
-7,530
2,7 4L

36,7/ 4
/3,846
485,/20
75,4368
572,048
74,603
46,572
72,853
76,487
70,35
52,/ 77
42,8565
40,3679
38,640
/5,84
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No. MTE HYR HEVEH

1 L4,8E4 &7 5,447
2 LER, 67 R 7/& / /672
3 /3385/,5/ L 4 728,570
4 /7,270,579 7,407

5 373,740,736 7,538

6 [/ 73,473,356 32,77/




